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i (a) i) Determine the value of*

7 - | ]
sor(3g-24)+54- %1 (S marks)
(ii) Convert 0.33 to a fraction. _ {4 marks)

A o

()  The third, fourth and fifth terms of a geometric progression are ¢+ 4, ¢4 10 and
i+ 20 respectively, Determing the:

(i) COmmon ratio;

(ii)  first term;
(i)  sum of the first 12 terms.
(11 marks)
2 {a)  Solve the equations:
(1) logl{x* —3)— log: = log 2:
()  2° =3 correct to three decimal places.
(% marks)

(b)  The heights of 40 students to the nearest centimeter were recorded as in table 1.

Table 1
¢ > B (D

Height (em) | = Tl e

131 - 140 135.5 3

141 - 150 1455 4

151 - 160 155.5 7

161 - 170 1655 "

171 - 180 175.5 9

181 - 190 1855 5

191 - 200 1955 |

Given that the assumed mean is 165.5,
(1)  Complete the tablc;
{u)  Calculate the mean height;

(iii)  Determine the standard deviation of the distribution.
(12 marks)
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X i{a) Convert:
(i) 47w 10 a binary number,

(i) 1001101012 w s denary number.

(6 marks)
®) Evnlultcmcnpmﬂainn[-i;&f}-%xilﬁ}iétﬂlﬂ- (6 marks)
{¢)  Use the inverse matrix method to solve the simultanecus equations:
fr—3y=17
r+y=-1
(8 marks)
4. ia) Solve the equations:
(I i
(i)  glogd=logz. =
(b)  Given the pumbers 24, 32, 48 and 56 find the
(i) LCM;
(i) GCD. B
(¢)  Given the matrix .-l=(i ;} and that A® =1 where | is the 2 x 2 unit matrix.
Determine the valoes of = and y. {5 marks)
5 (@ (i) Evaluate
2logw’ — 3 logn2 + logw 32
(i)  Solve the equation
: 44 5 9% = g4 (9 marks)
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(b}

()

3. (a)

(b)

()

(b}
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The length of 30 electrical conduits in meters selected from o workshop were recorded LGOI

in table 2.

Table 2

Length (m) O-10 | 10-20] 20-30 | 30-40 | 40-50

Bed

T 11 f 4

Number of conduits

+ L3 21
(1) the mode; -_;
ity  median,

Determing: T,

{8 muarks)

Caleulnte the compound interest on Ksh, 10,000 for 3 years at 11%, per anmum.
{3 marks)

The sum of first 8 terms of an arithmetic progression 15 236 and the sum of the firsi 6

terms 15 147, Find the sum of the first 12 terms of the senes. {7 marks})
Given the matrices
-3 0 [ 1 UJ
a=|7 4] B=F Tfmac=l,
Determine:
(i} M=24-38+4C;
(ii)y M*',
(9 marks)
Solve the equation log(Tr+3) = logw(2—2z)= 1. (4 marks)

|
Given the data 12, J"".p.' -}é &, 85, 3]1 "‘ﬁ 83, I‘grl l-1 I" 10, Il,!ﬂ‘:liklm'mm:lhr
{1 first quartile;
(it}  third quartile;

(ili)  interquartile mnge,
{7 marks)

The average rate of depreciation in value of a pump is 6% per annum. After four years
its value is Ksh. 150,700, Determine its value at the start of the four year period.
(4 marks)
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Given that easytvel.com

M= l = ; 4 E 15 1 singular matrix, determine the:

i possibie values of £:

(ii)  corresponding matnces.
{9 marks)
8 1
The fifth und eleventh terms of an arithmetic progression are 27 and 43 respectively.
Determine the:

{1} 30" term;

{it)  som of the Grst 16 teoms.
(10 marks)

The first term of a geometnc progression 15 25 and the sixth term is 30, Determine the
tenth term of the progression. {10 marks)
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